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Question 1: Government intervention in the market for rare earths
Extract 1: The uses of rare earth elements

Rare earth elements (REESs) is a collective term for seventeen chemical elements in the periodic
table. Despite the name, REEs are not very rare and found far more commonly in the Earth than
most precious metals such as gold and platinum. However, extracting, processing and refining
REEs are tricky for a myriad of technical and environmental reasons.

Rare earth metals like dysprosium and terbium play a critical role in defense, technology and
electric vehicles. Neodymium and praseodymium are some of the most sought-after rare earth
elements crucial in products such as motors, turbines and medical devices. Demand for them
exploded in recent years with the growth of technology and will continue to climb amid the
ongoing race to create a large electric vehicle market.

Source: CNBC, 17 April 2021

Figure 1: Price of rare earth dysprosium oxide, 2009 — 2024 (US$ per kilogram)

Price in U.S. dollars per kilogram

2009 2011 2016 2018 2019 2020 " pepresepipforepgspdald24*

Source: statista.com
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Extract 2: The harms of rare earth mining

Beginning in the 1990s, rare earth mining took off in the region located in Southeast China
about 300 miles north of Hong Kong. As China began to produce more smartphones, wind
turbines, electric vehicles, and other high-tech products requiring REEs, the mining intensified.
But the removal of these elements from the earth’s crust, using a mix of water and chemicals,
caused extensive water and soil potlution.

“To us as an environmental group, we hope that the environmental damage can stop and that
these external [pollution costs] could be internalized in the cost” of products, Ma Jun, a leading
Chinese environmentalist and director of the Institute for Public and Environmental Affairs, said
in a phone interview.

Ma’s fear is that other regions around the world could suffer a similar fate if they become, like
China, the supplier of cheap rare earth elements, with little or no environmental price attached.
“| hope that we don’t miss this opportunity,” he said. “There is talk that similar mining could be
started in Africa and other regions, so we should not repeat the same mistakes.”

Deng Zhiyong, director of the Longnan Environmental Protection Department, said in an
interview that the mining has dumped excessive amounts of ammonia and nitrogen compounds
into the region’s ground and surface water. Other pollutants, such as cadmium and lead, are
also released during the mining process; long-term exposure to these metals poses health risks.

Source: Yale School of the Environment, 2 July 2019

Extract 3: China’s stranglehold of the rare earths supply chain will last another decade

Western economies are set to remain heavily dependent on China for the refining of REEs for
the next decade. For three decades, the Chinese government has had a strategic vision for the
REE industry — something the West has lacked — and it now dominates the supply chain.

In 2021, China made up 54% of global REE mine supply, followed by North America at 18%, the
rest of Asia at 14%, Australia at 12% and Europe at 2%, according to Roskill. However, its
dominance of neodymium's global mine supply is higher, at 62%. In 2021, China accounted for
85% of the global supply of refined REEs, followed by the rest of Asia at 13% and Europe at
2%, according to Roskill. In the case of neodymium, it made up 84% its refined supply.

Furthermore, China has a more than 90% share of the global production of downstream rare
earth products and technologies, including magnets, according to consultancy Tahuti Global.

Source: Mining-technology, 26 Apr 2022
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Extract 4: Cleaning up mining

There are several things that need to happen regarding the environmental impact of rare-earth
mining. First, there should be efforts in research and development toward products that rely less
on rare-earth metals. For example, Honda is developing hybrid cars that are mostly free of
rare-earth metals.

Second, there needs to be an emphasis on finding more sustainable options for extraction.

Third, diplomatic channels should be used to incentivise a modernising reform of China's lax
regulation of rare earth mining and an improvement of standards for environmental protection.
Only then will associated environmental cleanup and preservation costs be added to the cost of
operating mines.

Lastly, the United Nations could pursue global standards for rare-earth mining.

All of these steps will go toward preventing additional damage to the Earth. However, existing
damage must be cleaned up. China is taking steps toward fixing the issues resulting from
decades of rare earth mining. These remediation efforts involve processes like pumping
contaminants out of groundwater and pumping fresh water back in to dilute toxin concentrations.
The country is also enacting tougher regulations to stem the damage done by existing mining
companies. For example, companies must upgrade their equipment to more modern, efficient
technology and must mine for metals using more sustainable practices.

Source: earth.org, 14 July 2020
Questions
(a) With evidence from Extract 1,

(i) What can you conclude about the price elasticity of supply of rare earth elements
(REEs)? {21

(ii) Using a demand and supply diagram, explain the likely change in the REEs market in
the future. [4]

(b) With reference to Figure 1, summarise the trend of the price of dysprosium oxide during the
period 2009 - 2024. [2]

(c) Explain the meaning of a positive statement and a normative statement and identify an
example of each type from Extract 2. [4]

(d) To what extent would rare earth mining improve the standard of living of people in China?
Discuss. {8l

(e) Discuss the view that tougher government regulations for mining companies to ‘upgrade
their equipment to more modern, efficient technology in rare earth mining’ (Extract 4) is the
best policy to alleviate the negative effects in the extraction of rare earth metals. [10]

[Total: 30]
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Question 2: Opportunities and challenges in Southeast Asian economies

Table 1: Selected economic indicators of Indonesia from 2016 — 2020

2016 2017 2018 2019 2020
Real GDP Growth rate
(% change in Real GDP) 5.0 51 52 5.0 2.5
Consumer Price Inflation
(% change in Consumer 3.5 3.8 3.2 3 1.9
Price Index)

Source: World Bank, 2022

Extract 5: Vietnam economy is Asia's shining star during COVID-19

Vietnam has minimised the economic damage from Covid-19 and is the only country in
Southeast Asia on track for growth this year. its economy is expected to grow 2.4% this year,
according to latest figures from the International Monetary Fund. The IMF credited “decisive
steps to contain the health and economic fallout from COVID-19" for the country’s success.
Vietnam has had only 1,288 Covid-19 cases and 35 deaths. The IMF is predicting a strong
economic recovery in 2021, with growth projected to strengthen to 6.5% “as normalisation of
domestic and foreign economic activity continues.”

The country has seen slower growth this year and its once-thriving tourism sector has taken a
particularly bad hit, but it has avoided the worst economic effects of the pandemic. A number of
factors have cushioned the blow, according to Michael Kokalari, chief economist for Vinacapital,
a Vietnam-focused investment company. Vietnam’s exports to the US have increased by 23% in
the first three quarters compared to the same period in 2019, with electronics exports up 26%.
The ongoing US-China trade war has made China a less attractive place to manufacture, with a
number of tariffs in place on exports. Many multinationals have started operating in Vietnam,
including global technology leaders like Apple and Samsung. Apple now has plans to
manufacture its high-end Airpods studio earphone in Vietnam. The pandemic has also prompted
more companies to consider manufacturing there, because of the need to diversify their supply
chains, said Mr Kokalari. “When Covid comes, you thought you had a global supply chain, and
you find out that you only have a China supply chain and you can’t produce. Well that's a much
more urgent, emotionally catalysing problem,” he said.

Source: BBC, 19 November 2020

Extract 6: Is low growth the new normal for Singapore?

When the global financial crisis hit Singapore in 2009, the shock left the country with real GDP
growth of 0.1 per cent. But the economy rebounded quickly. The following nine years delivered
an average annual growth of 5.2 per cent, owing largely to a sharp rebound in 2010, registering
a growth of 14.5 per cent. The mood is discernibly more downbeat this time. The Government
now forecasts that the economy will grow only within the range of 0.5 to 2.5 per cent in 2020. Is
low growth the new normal for Singapore? As a small, open economy heavily dependent on
external demand, Singapore’s national output is subject to the vagaries of the global economy.
One reason to think we are less likely to see a strong recovery this time around is that the

More papers available at www.testpapersfree.com

BP-~574



US-China trade war is affecting the Singapore economy by disrupting global supply chains.
Although many of the tariffs (taxes on imported goods) imposed by the US on Chinese goods do
not directly affect Singapore, there are spillover impact due to Singapore’s role in global supply
chains. For example, Singapore companies that produce intermediate goods used as inputs in
the production of China’s exports to the US may see a lower demand for their goods.

Singapore's continued growth will be tested as it faces bigger challenges on the horizon
including an ageing population and weakening productivity. The growth of Singapore’s total real
GDP today also depends on labour force growth, and capital investment. The number of citizens
in the working ages of 20 to 64 years will start to decline from this year onwards due to more
retiring and fewer entering the workforce, as the number of babies dropped to an eight-year low
in 2019. Ageing reduces economic growth as there are fewer new workers to boost output.
Workforces in some 40 countries are already shrinking because of demographic change.
Technology may at some point overcome the stifling effect of ageing. Some experts find that
when young workers are sufficiently scarce, manufacturers invest in more automation, and
experience faster productivity growth as a result, measured as an increase in output produced
per unit input.

Source: Various
Extract 7: MAS eases monetary policy as economy reels from impact of COVID-19

Singapore's central bank eased monetary policy as expected on Monday (Mar 30), as the
economy reels from the impact of a novel coronavirus pandemic. The Monetary Authority of
Singapore (MAS) said with the deterioration in macroeconomic conditions and expectations of a
weaker outlook, the Singapore dollar nominal effective exchange rate (SSNEER) policy band
has “depreciated to a level slightly below the mid-point of the policy band”. “MAS will adopt a
zero per cent per annum rate of appreciation of the policy band starting at the prevailing level of
the S$NEER,” it added. The COVID-19 pandemic has led to a severe contraction in economic
activity in Singapore and globally, due to the combination of supply chain disruptions, travel
restrictions imposed in many countries and a sudden decline in demand. Looking ahead, MAS
expects global economic growth to stall or even contract in the first half of 2020, with “significant
interruption” to economic activity in most of Singapore’s major trading partners. Growth in the
trade-related industries will be weighed down by the decline in external demand and supply
chain disruptions.

Source: Channel News Asia, 30 March 2020
Extract 8: Economic prospects in Indonesia

Disruption from COVID-19 and developments in commodity and financial markets will have
severe implications for Indonesia in 2020. As events unfold, Indonesia’s key trade partners
already expect severe impacts on their economies. Domestic demand is likely to weaken as
business and consumer sentiment falls. GDP growth is accordingly forecast at 2.5% this year. As
the global economy recovers in 2021 and investment reform gains traction, growth is forecast at
5.0%.

Earnings from exports of goods and services are expected to contract for a second year in 2020.
As the COVID-19 outbreak halts production in economies that import Indonesian commodities,
earnings from petroleum, palm oil, and coal are likely to suffer this year. Travel bans and flight
cancellations will hit tourism receipts. Signs already show domestic consumer confidence
beginning to decline. The impact of the COVID-19 outbreak on consumer sentiment and
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spending is likely to be strong. Unless the government successfully contains the outbreak,
household spending on health care could jump, productivity fall, and discretionary spending
shrink.

Growth in Indonesia has averaged 5% since 2015, yet much higher growth is needed for the
country to achieve its ambition to join the world's five largest economies by 2045. The main
factor constraining potential growth has been stagnant productivity partly attributed to limited
technological sophistication. To exploit the benefits of new technologies, companies and workers
need to have the know-how to absorb and adopt them. However, Indonesia currently lacks such
workers. Many firms struggle to find workers with the right competencies in software and
information technology services, inducing them to move to other countries. The share of the
population in the 25-34 age group with a tertiary education is still relatively low at 16.1%, below
that of other countries in the Group of 20.

Source: Asian Development Outlook 2020,

www.adb.org

Questions

(a) Explain what is the Consumer Price Index (CP1). [2]

(b) Using Table 1, describe the trends in real GDP and general price level in Indonesia from
2016 to 2020. [2]

(c) With reference to Extract 5 and using a diagram, explain the impact of an increased
number of multinationals operating in Vietnam on the exchange rate of the Dong (Vietnam’s
currency). [4]

(d) With reference to Extract 5 and the use of a diagram, explain one reason why a firm like
“Apple now has plans to manufacture its high-end Airpods studio earphone in Vietnam®. [4]

(e) Using economic analysis and based on the evidence provided, assess whether open
economies such as Vietnam and Singapore would gain or lose from the US-China trade
war. [8]

(f) Assess whether tackling falling growth rate is more important than raising productivity. [10]

[Total: 30]
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Answer three questions in total.
Section A
One or two of your three chosen questions must be from this section.

1 Amid the surge in demand for face masks in the light of the COVID-19 outbreak, the
price of face masks skyrocketed and there was a global shortage.

(a) With the aid of a diagram, explain why a shortage of face masks might still persist
after the rise in price of face masks. [10]

(b) Discuss the policies that a government can implement to address the skyrocketing
face mask prices. [15]

2 Singapore’s furniture retail market consists of large firms such as IKEA as well as
smaller, individual retail shops. These firms employ different strategies based on their
sizes. Smaller retail shops tend to compete on prices while prices remain stable across
the large firms.

(a) Explain two possible objectives of firms and how these may affect their price and
output decisions. [10]

(b) Discuss whether the strategies to increase profits adopted by large firms such as
IKEA might differ from those of smaller, individual retail shops. [15]

3 Lifelong learning, the practice of continuing to learn throughout one’s entire life, brings
not only personal development but also economy-wide productivity improvements. In
Singapore, the government has launched a campaign to rally Singaporeans towards
lifelong learning and provided subsidies like the SkillsFuture Credit.

(a) Explain the factors that a rational consumer may and may not consider when
making decisions about participating in lifelong learning. [10]

(b) Assess whether government subsidy is the best policy to ensure an optimal
outcome in lifelong learning. [15]
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Section B
One or two of your three chosen questions must be from this section.

4 The Bank of England has cut interest rates twice from 0.75% to 0.1% as the UK
economy attempts to recover from an unprecedented economic contraction.

Source: CNBC, 17 June 2020

(@) Explain one demand reason and one supply reason for negative real GDP growth.
[10]

(b) Discuss whether a cut in interest rates is the most appropriate for a country facing
a recession. [15]

5 Singapore’s headline inflation turned negative with authorities expecting inflation to
remain subdued on the back of lower oil prices and impact from the COVID-19 outbreak.
Weak labour market conditions also dampened consumer demand, thus capping price
increases for discretionary goods and services.

Source: Channel News Asia, 26 May 2020

(a) Explain one internal factor and one external factor that are likely to have
contributed to negative inflation in Singapore. [10]
(b) Discuss the view that governments should pursue price stability over the other
macroeconomic aims. [15])

6 Recently, many countries implemented export bans on food products such as grains and
meat. When countries ban exports, this can cause soaring prices, presenting potential

risks to Singapore's economy.
Source: International Food Policy Research Institute

(a) Explain the likely consequences of export bans on both the exporting and importing
countries. [10]

(b) Assess the extent to which the Singapore government can manage the harms of
export bans by other countries on her economic performance. [15]
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e With the intensification of rare earth mining in China (Extract 2), it remains to be seen
whether the standard of living would improve or decrease.

e Standard of living comprises two components, material standard of living and
non-material standard of living.

Thesis: Rare earth mining would improve the standard of living of people in China

e The mining of rare earth could have increased the material standard of living of people in
China as it increases the national income of her people through its net export revenue.

e As China dominates the global REE supply chain (Extract 3), an increase in the extraction
of rare earths to meet the explosion of demand for REEs (Extract 1) will increase the
export revenue of China, increasing its (X-M), and thus increasing the AD.

o Assuming spare capacity, the increase in (X-M) will trigger successive rounds of
income-induced consumption due to the muitiptier effect.

o AD increases from AD, to AD, because of the initial injection, and eventually to AD,
because of the multiplier effect. This would result in an increase in real GDP from Yyto
Y,, where there is higher actual economic growth.

General Price Level (GPL)

AD,

i
t
]
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t
]
|
1
:

Real GDP

0 Y,

Y, Y

o If the rate of real GDP growth rate exceeds the population growth, there will be an
increase in real GDP per capita. This translates to consumers having greater
purchasing power and hence higher ability to purchase more goods and services. This
increases their material standards of living.

e With higher actual growth from increased REE mining, the increase in output also
increases the derived demand for labour, reducing demand deficient unemployment from
Yi~Yoto Y=Y,

o With more people having jobs and incomes, this will increase the opportunity costs of
committing crime. The crime rates in China would be expected to reduce, leading to
an improvement in non-material standard of living as well.

OR

o The increase in incomes from the higher empioyment rates would mean higher tax
revenue for the government, increasing the government's budget and ability to spend
more on education and healthcare to improve literacy rates and life expectancy rate,
increasing China’'s non-material SOL.

Anti-thesis: Rare earth mining may decrease the standard of living of people in China

s However, the mining of rare earths generates negative externalities which would decrease
the non-material standard of living of people in China.

o The extraction of REEs generate spillover costs in terms of “extensive soil and water
pollution” (Extract 2) to third parties who are not involved in the rare earth mining
process. These people are the residents staying nearby the rare earth mines.

o The pollution would worsen air and water quality and lower sanitary levels, leading to
people developing illnesses, reducing life expectancy rates and lower non-material
standard of living.

e If a significant number of people fell ill due to the pollution, and lose the ability to work, the
fall in incomes may also worsen the material stand of living.

Evaluative Conclusion

e [Stand + Alternative] As rare earth mining could raise the material
residents in China due to an increase in net export revenue and hence income, the overall
impact on resident'’s living standards depends on the government'’s ability to mitigate the
negative externalities in production.

o With tougher regulation to stem the damage done by rare earth mining, together with
more sustainable mining practices (Extract 4), these negative effects are likely to be
minimised. Thus, rare earth mining would improve the living standards of people in
China.

OR

o [Time Frame + Stand] In the short run, the production of rare earths suffers from
negative externalities in production, hurting residents’ non-material living standards.
However, in the long run, as China take steps to fix the issues and enacting tougher
regulations to mitigate the negative effects (Extract 4), rare earth mining will likely raise
the living standards of people in China in the future.

Mark Scheme

For a well-developed answer that has:

s good scope — explains the impact of rare earth mining on the
material and non-material SOL of people in China; and

¢ good balance — explains the positive and negative impacts of
rare earth mining on SOL; and

o good rigour — explains using AD/AS analysis; and

¢ good application to context — applies analysis to the context of
China

L1 For an under-developed answer that: ’ 1-3

e lacks scope — did not explain the impact of rare earth mining on
the material SOL or non-material SOL; and/or

¢ {acks balance — did not explain the positive or negative impact of
rare earth mining on SOL; and/or

e lacks rigour — descriptive explanation of how SOL. of the Chinese
is affected by rare earth mining

o lacks application to context — did not explain change in SOL
using case material.

More papers available at www.testpapersfree.com



BP-587

‘Bujunw Jo syaya aanebau ay) Buneisjie ‘pejeulwlie siTMA BYL o
‘Aousioyye aanesojje Buireiyoe ‘SO uIm

8pIouloD 0 S|IE} ‘AdIN = OdN 218ym ' dD ‘1eas] uononpoid ewndo ajeaud msu ayy o

‘@AIND
DS 3Y1 YiM SapIouod Uyoium “DdiN 34} 0} SAIND. OdIN 8} JO HIYS € Se umoys sl siy) e

*Od 8y Buiseasou]

‘uoonpoud jo s)s0o Jun Jpyy Buisies Aq sented pay) 0} SjS00 |ewWISIXS Y} esifews)ul
0} s1eanpoid sed.0) SIU} ‘SO e DIW aYy) o3 jenbe xey jun-sed B Buguowoidun Ag e

“(z yeaxg)

sjonpoud Jo )SO02 ay) U] pesljeuiaju; aq pinod [s)sod uopnjjod] jeuie)xs,, 8y} Jey} os
Bujuiw I3 UO Xe) J9adIpul ue s Juawdjdu ues JuswuwiaAol e Jey) Aojjod Jayjouy e
suoneywi sy apisBuoje ‘syoeye aapeBau ey} ejejasje
03 senieussixe sApebau Jo jJus)xs By} sonpal ued Xe} Joalipul ue moy ufejdxy :Z Adyod

“IMa
ay) Ul UORONPAI BY} BOUBY PUB PaONPaJ 8q UEd DI UOIYM O} Jus)xa 8L} eonpal pinod
uoneuLojul Joapadwl ‘1eAsmoH "saibojouyos) s|qejieae ay) pue Agsnpuy Buuiw 334 ey
10 Buipue)siepun poob e aaey o0} sjuswiuIaAob alinbas pinom ABojouyoe) jusyle ‘wispow
aJow 0} epesbdn o} ajepuew By} SE SSAUIAIOAYE SH Ul pajiwy oq o) A|3y) si Aojjod siyy e

‘Anysnpu; a1eauyesy ay) bujaordw se
yons seale Jayo uo juads useq asIMIB)0 aAeY pInod Jebpng ay) se 1s02 Ajunuoddo ue
sinoul siy “Ajpesipousd jno pauseds aq 0) pasu pinom suoloedsul se uoneinfies ayy eolojus
pue Jojuow O} SjuswwsAob uo s3s0d sApelnsiujupe ybiy Jnouy pnoo Aojod sy e

8O
do 80 ]

$334 40 INAINO
gdit = aSn

ISIN v
a0l ‘Wausg 1800

‘Bujuiw ypes asel Jo sjoeya anjebau sy Buijeins)e asuay ‘sjie} IMQ UL ©
-dp) 0} Jasopo SI YoIym ‘NS = .OSIN 8Joum SO 1e s Buluiw yues aiel Jo [aA3] jewsndo

Ajje100s mau 8y ‘DdiA 0} Jasesu st Yolym DS O} Sarow DS ‘sesessap DIW sy ©
‘Buiuiw yues aled ul DI ouy Ul

osealoep e o) Buipee) ‘seiled piy) 0} s)s00 1aA0||ids sy} Ul eseasoop e sjueseidas syl ©
‘aJaydsow)e sy} ojui syuejnjjod Jasss] 9Sea)a) [iIM $58201d UOROBAXS

ay) ‘ABojouyoa) Jusiolye pue wiapow aiow o) Juswdinbe Jiey) epeibdn seuedwos sy o

"AdUe(d1jj6 SA|Jed0]|e 8AoIdL|
0} sso| jyBiempesp a8y} eanpeJ adusy pue ‘sapjjjeusslxs eapebeu jo jueixs ay)
8snpas |um ABojouyose) Jueioyye aiow o) epeibdn o} suuy Joj suopejnbal Jjeybnop e

suopejnuy; syt episbuoje ‘spoeye
oApeBou oy} sjelrejje 0} senijeuloixe sApebou jo juelxe oy} eonpes ueds ABojouyos)
jueoiye aiow o} epesBidn o} suuy ioy suonenBes iseybnoy moy ureidxg 5L Aosnjod

*Buiui 33y Uo Xe) Joalipul ue esodw osje ued juswuiaaob e ‘Juawidinbe Jiey) apeaBdn

0} salueduios Bujuiw Joj suopeinbas Juswuienob seybnoy sepiseg [yoeoisdde suipnp] e
“IAQ 8y} Jo uononpal e aiinbas

80UBY pINOM SfEjeW YpEee eJeJ JO uoloesXe 8y) ul speje aAjebeu ey Bupes|ly o

‘(IMQ) sso )ybrampeap

ul }nse) pue ‘s33y Jo uononpoidisao 0} pes| pinom HIW o eoussaud ey (Z joeng)

pES| PUB WNIWPRD SB Yons sjuenjiod 0} enp S}soo yyeay Jaybiy Jnou) pue senss! yjjesy

1eyns o} ‘sansed pJayy ay) ‘seys Buiuiw Jesu Buiay sjuepisal Buisneo ‘seliews)xe eajebou
ejesouab selow Ypesa aJes jo uogoenxs ey) [yoeosdde sujyno pue jxejuod jeg] e
uononponu|

-ainyiey joxusul ey Buissaippe uf sepjod ay)
Jo sseuejsudoidde jjeiero uo juswbpn{ peuoseei-flem 8 bupjew eiojeq seyleuie)xe enjebeu
Bujssaippe u) seauenbesuod pepusjusun/suoljeywy pue sbuntiom Jey) jo suue} uj Abojouyos)
ybnouyy uewdmbe bBuunw sey; epeibdn o) suuy Joj suoyeinbas seybnoy eyy Bupnpour
‘sajaiod omy jo sseusjeudosdde ey jo sisAjeue peoueleq B saiinbas esuodses juensjes y

sjejeur
‘ajqesidde yueeo o.upl
alaym 'pasn eq pjnoys [euejel ased  ay) JO uonoexg IXajuon
ASUSIoHJe ANEO0]|e SACIdUT
pue (1)) u semews)xe eAnebau ey) sselppy | sjosye eanebeu
el ejeinely
‘s3I ***juewdinbe
10 uoRoRIXe BY) YIM pajelnosse DIW ey eonpas epesbdn 404
diey ueo ABojouyos) juaoye alow Jo asn eyl suopemnbey jusjuon
“Jopaq eq pjnom Adfjod ydiym uo juswsBpnl
pejejueisqns-em B  AQ  pemojjo}  uonsanb
8y} uy pejels Aoyod ey) st yoym Jo suo ‘sepojjod Aoyjod
OM] JOo ssdusnbasuod  papusjuiun/suoie)ll 186G MeIn aseayd/piom
pue sBuppiom sy) Jo sAncadsiad pesueleq e juseseld ey} ssnasjg puewWIWO)
Rejeldioul uogsen
t
ol *S|ejow YIes aJeJ Jo UOIORIIXe 8y} Ul S}004e papebeu

ayj ajelasjie 0} Aajjod )saq ayy sy (p Joenx3) Bujujw yuee ases us AGojouoe)
jueidle ‘ulspow eJow o} juoswdinbe aey) apesbdn, o} seuedwos
Bujujw Joj suopjeinbes juswulerob ieybnoy jeyy mea ey) ssnasig | (9)

"BUqD U) 0jdoad
10 JOS [BUSJEW-UOU PUB [BLBJBW By} USSIOM JO aAcldull M Buluiu
22—\ | uues a1es yoiym o) Jueixe ey} uo Juswebpnl pauosesi-jom B 104 3

siamsuy pajsabbng uoeuiwex3y Aleupuiaid SOWOU003 ZH ZOr Orl 2202

sismsuy pelssBbng uogeunuexg Aruiuald SIWOUCOT ZH Z3r OFL Z202

More papers available at www.testpapersfree.com




BP-588

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

Figure 4: Effects of indirect tax

Cost, Benefit, Price
A

MSC=MPC’
MPC

MSB = MPB

4 » Output of REEs
0 Qs=CGp' Qp

However, the government is likely to have imperfect information regarding the monetary

value of the MEC generated at Qs. Estimates would have to made, and errors in terms of

under-estimation or over-estimation would mean that allocative inefficiency would still

persist in the REEs market.

o Moreover, an overestimation could result in a tax that is too high, possibly leading to
government failure where the DWL generated could be greater than before
non-intervention.

1s 22 i Inei

om

[Stand] Tougher regulations alone may not be the best policy to alleviate the negative
effects of rare earth extraction. A combination of both tougher regulations and indirect
taxes may be more suitable instead.

[Alternative] The taxation is a short run policy which can yield immediate effects and
raise tax revenue. Given China's domination in the global market for rare earth elements
and the rising global demand, it is likely to generate substantial tax revenue for China
which can be directed towards enforcement of regulation and be used to finance the
research and development into cleaner technology, whose effects can only be reaped in
the long run.

Mark Scheme

L2 | For a well-developed answer that has: 5-7

e good scope - explains the tougher regulations for firms to
upgrade to more efficient technology in rare earth mining and
one alternative policy to alleviate the negative externalities in
rare earth metals extraction.

e and balance - explains both the workings and
limtiations/unintended consequences of both policies; and

e good rigour — explains using benefit-cost market failure
analysis; and

e __good application to context

L2 | For an under-developed answer that: 1-4

e lacks scope — did not explain an alternative policy to alleviate the
negative externalities in rare earth metals extraction

e lacks balance - did not explain the limitations/unintended
consequences of both policies; and/or

e lacks rigour — descriptive explanation of the workings and
limitations/unintended consequences of both policies in
addressing the negative extemnalities of rare earth metals
extraction; and/or

e lacks application to context — limited use of case material to
support analysis

E | A well-reasoned judgement on the extent to which the tougher | 1-3
regulations for firms to upgrade to more efficient technology in rare
earth mining is the best policy to alleviate the negative effects in the

extraction of rare earth metals.
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trade war will affect the macroeconomic
performance of Vietnam and Singapore.
Context Vietnam and Singapore Extract5 & 6

Candidates should explain how the US-China trade war will affect the AD and AS of the two
open economies Vietnam and Singapore. Gains and losses should be explained in terms of
actual or potential growth and/or unemployment. They can also explain the impact in terms of
material and non-material standard of living (SOL). A well-substantiated evaluative judgement
on the overall impact (gains and loss) is required.

Introduction

e [Set the context] Open economies such as Vietnam and Singapore experience relatively
free flows of trade, capital and labour. The US-China trade war has differing impacts on
the two open economies, in terms of their macroeconomic performance, with opportunities
and threats.

Body 1: Vietnam gains from US-China trade war

e Due to its openness to capital flows, Vietham has benefitted from the US-China
trade war.

e Due to the tariffs imposed on China, Vietnam has become a more attractive place for US
companies to manufacture goods since there are no tariffs in place on exports from
Vietnam to US. This is evident from Extract 5, where “Many multinationals have started
operating in Vietnam, including global technology leaders like Apple and Samsung.”

e Multinationals relocating to Vietnam increases the Foreign Direct Investment (FDI) into
Vietnam. This increases investment expenditure (1), which increases AD.

e Below the full employment level, there will be a multiplier effect due to the muiltiplied

increase in income-induced consumption. AD increases from AD1 to AD: because of the

injection, and eventually to ADs because of the multiplier effect. As shown in Figure
3, this would result in an increase in real GDP from Y, to Yf, where there is higher actual
economic growth.

o The increase in real GDP will also increase the derived demand for labour as more
workers are hired to produce more goods and services, decreasing demand-deficient
unemployment.

Figure 3: Impact of US-China Trade War

"

GPL

Real GDP

e The increase in FDI also leads to an increase in productive capacity, leading to an
increase in the AS, shown in the above figure as a rightward shift of the AS curve. As real
GDP increases from Yf to Y, Vietnam enjoys higher potential growth.

o In addition, the increase in AD and AS in tandem will lead to higher sustained economic
growth, where real GDP increases from Y1 to Yf', with lower inflationary pressures.

o This is supported by the IMF's prediction of a strong economic recovery in 2021, with
growth projected to strengthen 6.5% “as normalization of domestic and foreign
economic activity continues.” (Extract 5).

Body 2: Singapore loses from US-China trade war

o On the other hand, the US-China trade war has brought about losses to Singapore.

¢ Due to the openness of the Singapore economy, it has a role in the global supply chain
which has been disrupted by the US-China trade war. As stated in Extract , even though
tariffs aren't imposed on Singapore exports, Singapore companies that produce
intermediate goods used as inputs in the production of China’s exports to the US may see
a lower demand. With demand for exports falling, (X-M) falls, leading to AD and real GDP
falling.

e The decrease real GDP will also decrease the derived demand for labour as fewer
workers are hired to produce more goods and services, increasing demand-deficient
unemployment. (can also link to SOL)

Evaluative Conclusion (stand + 1 well-substantiated A-T-M-S angle)

e [Stand] Overall, it would seem that Singapore loses while Vietnam gains from the
US-China trade war.

o [Time frame] However, if the US-China trade war intensifies further, the resulting decline
in global economic growth and incomes is likely to lead to a fall in demand for exports
worldwide, and Vietnam couid experience a fall in exports and actua! growth as well.

o [Situation] Depending on how similar Singapore exports are to Chinese exports,
Singapore's exports could increase if US switches from more expensive tariff-imposed
Chinese goods to Singapore goods. Moreover, Singapore could also attract US
companies to relocate there and this could lead to more gains than losses for the
economy.
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Evaluative conclusion (stand + 1 well-reasoned ATMS evaluative angle)

OR

[Stand]: Whether tackling falling economic growth is more important than raising
productivity depends on the current economic state of the economy.

[Situation]: While productivity growth is important, it takes a lower priority when there is
an economic fallout as severe as the one during Covid-19. The economic faliout from
Covid-19 was the most severe, surpassing even the SARS outbreak of 2002 and
September 2001 attacks where the impact was more short-lived. Weaker economic
growth during Covid could dampen already weak business and consumer confidence, and
this could tip the economy into a full-blown recession, where growth rates become
negative. Moreover, efforts at raising productivity have unpredictable outcomes, unlike
efforts to boost economic growth by increasing government expenditure and through
transfer payments to households. Ultimately boosting growth to preserve jobs takes
precedence during times of recessions.

[Stand]: Whether tackiing falling economic growth is more important than raising
productivity depends on the severity of falling growth rates and types of challenges faced
by the economy.

[Situation]: If growth rates are still positive despite weaker growth, governments may
choose to focus on raising productivity to address other challenges instead. For instance,
while Singapore has been facing lower growth over the years, its growth rate was still
forecasted to be “within the range of 0.5 to 2.5 per cent in 2020” (Extract 5). On the other
hand, there are greater threats to its long-term growth, in the form of an “ageing
population and weakening productivity”. Without an increase in productivity through
greater investment in automation for instance, Singapore is likely to face limited potential
growth which will greatly limit its ability to achieve sustained growth in the long run.
Hence, for such economies facing long-term demographic challenges which threatens its
long-term growth, boosting productivity is more important than tackling falling growth
rates.

Student’s Evaluation (Wang Yiqin, CG 06/21)

[Stand]: In conclusion, tackling falling growth rate and raising productivity are both
important as focussing on one objective alone would inevitably lead to creation of other
unintended economic problems.

[Alternative]: If the focus is on tackling falling growth rate and productivity growth is
ignored, there may be significant inflation. If the focus is on productivity and not falling
growth rate, unemployment could keep rising. Hence, both objectives must be taken care
of.

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

e [Situation]: Howsver, in real world situations, which objective to place more importance
on depends on the situation of the economy as it is costly and incurs great opportunity
cost to focus on both. Developing countries should focus on falling growth rates more as
they are likely to have spare capacily in the economy for AD fo rise further, while
developed countries should focus on productivity more for future growth.

Mark Scheme

L2 | Awell-developed answer that has: 5-7

s Good balance and scope — analyses the benefits of tackling
falling economic growth and raising productivity; and

e Good rigour — analyses the benefits of tackling falling economic
growth and raising productivity using AD/AS analysis; and

e Good application — arguments are supported with case
evidence and examples of Southeast Asian economies where
relevant.

L2 | For an answer that: 1-4

e Lacks balance and scope - analyses only the benefits of tackling
falling economic growth or raising productivity; and/or

e Lacks rigour — there are gaps in explaining the benefits of
tackling falling economic growth or raising productivity; and/or

e Lacks application — there is little or no support with case
evidence and examples of Southeast Asian economies.

E For a well substantiated conclusion on whether tackling falling | 1-3

economic growth is more important than raising productivity.

15
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Figure 1: Market for face masks
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Body 2: Explain how the persisting shortage despite the price rise could be attributed to
the price inelastic demand and price inelastic supply of face masks
e The price inelastic demand and price inelastic supply of face masks meant the price
increase was not sufficiently significant to remove the shortage, resulting in the
shortage of face masks persisting.
e The demand for face masks is price inelastic (IPEDI < 1) because of the high degree of
necessity of face masks as a precautionary measure to reduce the spread of COVID-19.
e The supply of face masks is price inelastic (0<PES<1) because of the fairly complex
production process.

o The production of face masks requires several different inputs and the assembly of
different parts in a relatively sophisticated process in order to form the multi-layered face
mask with filtering properties to trap small particles while allowing air to pass through.

o Given a shortage which will exert an upward pressure on price, causing price to rise,
quantity demanded will fall and quantity supplied will increase.

o However, as PED < 1, quantity demand will falt less than proportionately to the increase
in price, ceteris paribus. Likewise, with a price inelastic supply, the quantity supplied of
face masks will rise less than proportionately to the increase in price, ceteris paribus.

e Together, this meant that when price increased, quantity demanded and quantity supplied
may not respond sufficiently for the shortage to be removed.

e As shown in Figure 1 above, despite the increase in price from P, to P,, there is still a
persisting shortage of Qd' - Qs' units, and the market does not clear.

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

For a well-developed answer that has:

e good scope — explains the larger increase in demand compared to
supply and the price inelastic demand and supply of face masks;

e good rigour — utilises a suitable demand and supply framework and
economic diagram to explain the persisting shortage, in the context
of COVID-19, with reference to the preamble.

L2 For an underdeveloped answer that is: 5§-7

e lacking in scope ~ only explains increase in demand and supply
without recognising price elasticities of demand and supply OR only
explains the increase in demand and price inelastic supply of face
masks;

e lacking in rigour — descriptive answer without a suitable framework
or diagram or application to the context.

L1 For an answer that shows some knowledge of demand, supply, andfor | 1-4
price elasticities for face masks. Answer may contain irrelevant
responses or conceptual errors.

{b) Discuss the policies that a government can implement to address the skyrocketing face

mask prices. [15]
Part (b) Q ion Int .

Command Discuss the policies | To provide a balanced analysis on the various

word/phrase policies (workings and limitations)

Content Policies... address... | Policies to Increase the high face mask prices
skyrocketing face | include: reducing demand, increasing supply, price
mask prices control (price ceiling/maximum price)

Context A government... face | Policies that can be carried out by a government.
masks Real-world examples should be given to

demonstrate application.

A relevant answer requires a balanced analysis (both the workings and limitations) of the
various policies that a government can implement to address the skyrocketing face mask prices.
Policies could entail either an increase in the supply or a decrease in the demand. There should
also be comparison between these policies to craft a well-reasoned judgement of the
appropriateness/effectiveness of the various policies discussed in a real-world context.

Introduction
e [State approach] To address the skyrocketing face mask prices, a government can either
increase the supply of face masks, decrease the demand for face masks, or impose a price

4
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o Also, the quantity transacted falls from Q, to Qs. Consumers who could have consumed
Q,-Qs units of face masks are now no longer able to purchase and consume legally
after the price ceiling.

o Some of these consumers might then turn to the black market and pay a higher price Py
based on their willingness and ability to purchase as reflected by the demand curve.

o As aresult, in these cases, the price of face masks sold in the black market would likely
be much higher than in the free market without government intervention due to the price
inelastic demand for face masks.

Evaluative conclusion
e [Stand] As the skyrocketing facemasks is a multi-faceted and complex issue, a

multi-pronged approach, requiring both the increase in supply and reduction in demand
for face masks is needed to best address the skyrocketing face mask prices. A price
celling is less appropriate because of its unintended consequences.

o [Magnitude] Given the time lags associated with both policies to increase supply and

reduce demand, coupled with the global shortage and skyrocketing face mask prices,

there needs to be a significant increase in both supply and demand in order to

sufficiently remove the shortage to bring prices down.

o Moreover, to be able to manage the panic-buying of face masks and hence reduce
demand successfully, the public needs to be convinced that there are adequate
supplies of face masks when needed, which require countries to boost their supply of
face masks.

¢ ([Magnitude] Comparatively, a price ceiling would be less ideal to address the

skyrocketing face mask prices. While it could, in theory, reduce prices with shorter time
lags, there could be inequity problems when prices of face masks are sold at higher
prices in black markets, and the quantity transacted is lower, implying that some
consumers would be without face masks.

owiadge. Asplication/Under

For a well-developed answer that has:

e Good scope - explains how different policies work to increase supply
and reduce demand for face masks to reduce price;

e Good balance ~ explains the usefulness and limitations of the
above-mentioned policies, and

e Good rigour — utilises appropriate demand and supply analysis,
together with real-world examples.

L2 For an underdeveloped or incomplete answer that: 5-7

e Lacks scope — limited explanation of how different policies work to
address skyrocketing face mask prices and/or

e Lacks balance — only has either workings OR limitations of the
policies analysed, and/or

o Lacks rigour — gives a descriptive explanation of the workings and
limitations of the policies to address skyrocketing face mask prices
with limited real-world application

L1

For an answer that shows some knowledge of how different policies | 1-4
work to address skyrocketing face mask prices. Answer may contain
multiple conceptual errors.

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

E3

For an answer that builds on earlier economic analysis to support an
evaluative statement on the relative appropriateness of the policies to
address the skyrocketing face mask prices, well-applied to the real-worid
context.

E2

For an answer that makes some attempt at an evaluation on the most
appropriate policy to address skyrocketing face mask prices,
well-applied to the real-world context.

E1

For an unexplained evaluative statement.
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OR

Price, Revenue, Cost
A

D=AR

> Qutput

Body 3: Another possible objective of firms could be to maximise revenue instead of
profits.

Firms could aim to maximise revenue (where MR = 0). This could be due to
managers and sales personnel being paid based on sales revenue (ie.
commissions). When this happens, they have the incentive to sell as much as
possible and maximise revenue.

In addition, sales figures are much easier to track (and more visible) than profit
figures on a regular basis as corporate reporting of profits are subjected to many
accounting rules and regutations that are difficult for normal investors to understand.
As such, owners of the firm may judge performance based on revenue and not profit.
Therefore, the perception that good managers are those who make more sales
entices managers to chase sales figures rather than profits in order to appeal to the
owners of the firm.

A revenue-maximising firm will mean that firms produce where MR=0 at Q1 instead
of profit maximising output Q* and they will also charge a lower price P1 instead of
P*.

Price, Revenue, Cost

Qutput

Conclusion:

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

As such, firms could have different objectives depending on their current goals.
Mark Scheme

For an answer that has:
e Good Rigour - answer uf

diagram.

and why they may pursue these objectives.

es firm analysis to explain how price
and output wili be determined and is supported by a well-drawn

o Good Scope — Answer considers two different objectives of firms

L2 For an underdeveloped answer that:

Lacks Rigour — answer is descriptive without clear reference to
how prices and output are determined. Diagram is inaccurate or
not referenced to.

Lacks Scope — Answer only considers one objective of firms OR
answer does not explain why firms may pursue the different
objectives

L1 For an answer that shows some knowledge of the objective of firms.

b) Discuss whether the sirategies to increase profits adopted by targe firms such as IKEA might

differ from those of smaller, individual retail shops.

Question Interpretation

Command Discuss Present different perspectives of the view and evaluate the

word/phras | whether validity of the view.

e

Content Strategies to | There is a need to consider the different strategies used by
increase large firms as compared to smaller shops to maximise
profits profits and assess whether these strategies are different.

Diagrams to show how revenue and costs will change and
Large firms.. | hence profits will be helpful in adding rigour to the answer
smaller

individual
retail shops

Context No fixed | While there is no fixed context here, it may be helpful to
context consider the fumiture industry as suggested in the

preamble and the mention of IKEA in the question.
Relevant examples should be provided.

(18]

A relevant response requires a balanced analysis (both the similarities and differences) of the
strategies utilised by both small and large firms to increase profits. Thers is also a need to
explain how these strategies could allow the firms to increase profits. Both price and non-price

strategies should be considered to allow for more scope in the answer.
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Price

9 Y Output

Evaluative Conclusion
s [Stand + Magnitude] While large and small firms may differ in strategies, the extent to

which they differ may depends on the type of small firms. There has been a growing
trend of smaller firms catering to specific consumers such as those looking for
sustainably sourced furniture or those looking for customized pieces of furniture made
from specific material such as suar wood. In such cases, these smaller firms are more
likely to behave more similarly to large firms and focus more on non-price sirategies
such as extensive branding and research and development of new products to cater to
the consumers. In such cases, the strategies used by smaller and larger firms might not
differ much.

[Situation] Although smaller, individual firms that operate in rural areas may only have a
small market share relative to the entire market, they may be able to operate as a local
monopoly and thus be able to earn supernormal profits in the long-run as well. For such
smaller firms, it is likely that the non-price strategies to increase profits would be similar
to that of larger firms as they have the ability to engage in product differentiation or
process innovation.

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

For an answer that has:

e Good Rigour - answer uses firm analysis to explain the different
characteristics of large and small firms and how these affect the
strategies used. Answer uses a well-labelled diagram to explain
how these strategies can increase profits levels.

s Good Scope — Answer considers both price and non-price
strategies; for non-price strategies, both strategies which affect
cost and revenue are considered

e Good Balance — Answers considers how the strategies may be
similar and different.

L2 For an answer that: 5-7
e Lacks Rigour - answer may be descriptive at times without a
clear tool of analysis. Diagram is either not drawn or poorly
labelled and not referenced to.
e Lacks Scope — Answer considers only either price OR non-price
strategies
e Lacks Balance — Answers considers only how the strategies may
be similar OR different.
For an answer that is mostly descriptive, with some inaccuracies. 1-4
s i 7
For an answer that arrives at a reason 4-5
and small firms utilise different strategies to increase profits.
E2 For an answer that attempts to come to a judgment on whether large | 2-3
and small firms may utilise different strategies to increase profits.
E1 For an unexplained judgement, or one that is not supported by 1

economic analysis

3 Lifelong learning, the practice of continuing to iearn throughout one’s entire life, brings not
only personal development but also economy-wide productivity improvements. In Singapore,
the government has launched a campaign to rally Singaporeans towards lifelong leamning
and provided subsidies like the SkillsFuture Credit.
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o A key constraint is the availability of funds or the individual’s budget to spend on these

courses for lifelong learning. Command Assess whether...is the | To examine the given policy and
o The individual may face budget constraints in the form of hisfher income and the word/ phrase best... present a balanced assessment
competing needs for that income (e.g. food/transportation/savings etc). relative to at least one other palicy in
order to arrive at a judgement whether
Body 2: Explain the factors that a consumer may not consider when deciding to Smﬁm_ﬁm: policy is the best in the

participate in lifelong learning. cantext.

. . h

e The individual may not consider the external benefits to third parties and the Content Government _subsidy _and | Answer requires an_explanation of

imperfect information in his/her consumption of lifelong learning.

other policies to encourage

how government subsidy works to

o When the individual consumes lifelong learning and becomes more skillful and ) . s .
ducti s mentioned earlier. hi i benefit I Th il consumption increase consumption up to social
productive as mentioned earfier, his employer enefits as well. There are spillover optimal level as well as its limitations
benefits to the employers in the form of higher revenue and hence profits earned as the before discussing at least one
employee becomes more skillful and productive. alternative policy in the same regard.
o At the same time, the individual's colleagues also become more productive and may
earn higher income as well because of the spillover effects that the individual's Context Market for lifelong leaming v_.o.m.au_m. suggested mo<o_.=3ma
consumption of lifelong learning have on his/her colleagues. policies like skillsfuture credit and
public campaigns. Other policies
. P . . ; . relevant in raising the participation of
o At the same E:m_ E.m individual 3m< ::ama.wm._am”m S.m full n:.<m$ benefits to himself in lifelong learning are relevant as well.
the consumption of lifelong learning due to imperfect information. He may not be aware
of the higher future income or better employment opportunities that he may potentially
receive or gain from the higher productivity gleaned from the lifelong leaming courses.
This question requires a discussion of the given policy - subsidy in terms of how it encourages
Mark scheme consumption of lifelong leaming to reach the social optimal outcome and its limitations. This is

followed by a discussion of at least one alternative policy, campaigns before evaluating whether
subsidy is the best policy relative fo the other policies in the Singapore context.

o, Application/Understanding and.

For a well-developed answer that: 8-10
e good scope — explains benefits and costs of the decision, and
also the external benefits and imperfect information of the
decision
e good rigour — clearly explains the above, using relevant,
well-labelled and accurate diagrams; and
¢ good use of examples to link to the decision on participating in
lifelong long.
L2 For an answer that: 5-7
e lacks scope: only explains the factors that individual may
consider OR the factors that the individual may not consider
e lacks rigour: gaps in the explanation of the
costs/benefits/external benefits and imperfect information
L1 For an answer that is largely descriptive, shows little or no applicationof | 1-4
economics, and contains conceptual errors.

(b) Assess whether government subsidy is the best policy to ensure an optimal outcome in
lifelong leamning. [15])

Part (b) Question interpreta

19 20
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Evaluative conclusion

o [Stand] Whether a government subsidy is the best policy depends on the target group that
Singapore is focusing on.

e [Situation] For example, for workers facing structural unemployment, the long spell of
unemployment would have depleted much of their savings, therefore the government needs
to provide subsidies to help them overcome their financial constraints, i.e. subsidies more
critical for this group of workers. However, for the university graduants who have just
completed university, they may not be so resistant to the idea of taking courses for lifelong
learning and therefore education campaigns may be more targeted for this group of workers.

e [Situation & Alternative] Singapore being a developed country has sufficient funds to
subsidise lifelong learning without incurring large opportunity costs. At the same time, with a
relatively educated workforce, receptivity of lifelong leaming is also expected to be high.
That said, both policies are complementary: Subsidies tend to work more quickly in the short
run to increase consumption of lifelong learning while concurrent campaigns educate
consumers about the benefits of lifetong learning to improve awareness so subsidies can be
reduced in the longer term.

L3 For a well-developed answer that has: 8-10

e Good scope- explains how at least two policies (subsidy and another
policy) could help to achieve the optimal outcome in lifelong leaming;

e Good balance — explains both the workings and limitations or
unintended consequences of the above-mentioned policies

e Good rigour — utilises appropriate analysis, together with real-world
context in examples.

L2 For an underdeveloped or incomplete answer that: 5-7
e Lacks scope — only explains one policy (either subsidy or another
policy)
e Lacks balance — only explains the workings OR limitations/

unintended consequences of the above policies;
e Lacks rigour — gives a descriptive explanation of the workings and
limitations of different policies.
L1 For an answer that shows some knowledge of the policies to achieve | 14
optimal outcome for lifelong leaming. Answer may contain multiple
conceptual errors.

pRls
E3 | For a well substantiated evaluation on whether government subsidy is | 4 -5
the best policy to achieve the optimal outcome in lifelong learning.

E2 |For an answer that makes some attempt at an evaluation whether | 2-3
government subsidy is the best policy to achieve the optimal outcome in
lifelong learning

E1 For an unexplained evaluative statement that addresses the question. 1

23
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4 The Bank of England has cut interest rates twice from 0.75% to 0.1% as the UK economy
attempts to recover from an unprecedented economic contraction.

Source: CNBC, 17 June 2020
(a) Explain one demand reason and one supply reason for negative real GDP growth. [10]

(b) Discuss whether a cut in interest rates is the most appropriate for a country facing a

recession. [15]
Part (2) Q . . .

Command Explain To utilise economic reasons and reasoning to

word/phras explain one demand and one supply reason for

e negative real GDP growth

Content Demand reason, | Utilise AD-AS framework to explain why the
supply reason Aggregate demand and Aggregate Supply would

have fallen

Negative real GDP | Decrease in real GDP, negative growth
growth

Context Nil No context specified. Students may use
information from their own knowledge or the UK
economy, as specified in the pre-amble

A relevant answer requires candidates to utilise the AD-AS model to explain one reason why
Aggregate demand could have fallen and one reason why Aggregate Supply could have fallen,
resulting in negative real GDP growth in an economy.

Introduction
o Negative real GDP growth refers to a situation where the real GDP or real output in an
economy is falling.
o This can be caused by either a decrease in Aggregate Demand (AD) or a decrease in
Aggregate Supply (AS) in an economy.

Reason 1: Explain why Aggregate Demand could have fallen in an economy
s One reason for negative real GDP growth is the decrease in the AD of the
economy.

o The AD in an economy could decrease because of a fall in any of the components of
AD - Consumption expenditure (C), Investment expenditure (I}, Government
expenditure (G) and Net export revenue (X-M).

o In the height of the 2020 Covid-19 situation where there was lockdown in many
countries, there was pessimistic business outiook throughout the economy and
consumers may be pessimistic about their future incomes and businesses may be
pessimistic about their future profits, therefore C and | would fall respectively.
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(b) Discuss whether a cut in interest rates is the most appropriate for a country facing a
recession. [15]

Part (b) Question | i

Command Discuss whether... | To examine and present the different aspects of a
word/phras | appropriate problem or subject, and give a judgement on

[ which policy approach is the most appropriate one
Content cut in interest rates Expansionary interest rate monetary policy
Context Recession Periods of negative actual growth and high

unemployment (spare capacity)

A country No specified context. Students can bring in
examples from large economies (UK, China) or
Singapore.

A relevant response requires an explanation of how three policies, expansionary interest rate
monetary policy, expansionary fiscal policy, and supply-side policies, can be adopted to help
countries address recession and to explain the limitations associated with each policy. The
evaluation then requires making a judgement on the relative effectiveness of the policies and
the suitability of the policies depending on the context of the countries.

Introduction
e A recession is defined as two consecutive quarters of negative economic growth. A
world-wide recession would mean that many countries around the globe are
experiencing negative economic growth.
e Besides a cut in interest rates, expansionary fiscal policy and supply-side policies could
be adopted to address the fall in real GDP brought about by a recession.

Thesis 1: Explain how expansionary interest rate policy could be an appropriate policy
during a world-wide recession.
e Expansionary interest rate monetary policy via a decrease in interest rates could
be an appropriate policy for a country to adopt during a world-wide recession.

o The cut in interest rates will reduce the cost of borrowing and the returns to savings
for consumers and firms.

o As households are now more incentivised to borrow more to purchase big-ticket
items and less incentivised to save, this will encourage more consumption
expenditure (C).

o The fall in interest rates also increases expected profitability on investment for firms,
increasing investment expenditure (1).

o During a world-wide recession, there is likely to be high unemployment and hence
spare capacity. The increases in C and | would lead to a multiplied increase in the
aggregate demand (AD). From Figure 3 below, this is represented by a rightward
shift of AD curve from AD2 to AD3.

27
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o This leads to an increase in the general price level from P2 to P3 and a multiplied
increase in real GDP from Y2 to Y3. Actual growth is hence achieved, addressing the
fall in GDP as a result of a recession.

Figure 3: Expansionary Interest Rate Monetary Policy and Expanslonary Fiscal Policy

Seneral. Price Level

AS

| R

AD=AD:

; Real GDP
¢ Y Yoz

Antitheslis 1: Explain the limitations and/or unintended consequences of monetary policy
and why it may not be an appropriate policy for some countries to adopt during a
world-wide recession.

e During a world-wide recession, there is likely to be poor business and consumer
confidence in the economies. Hence, even when Interest rates fall, consumers and
firms might not be incentivised to borrow to increase their consumption and
investment respectively.

o [Situation] In addition, monetary policy would not be effective in addressing recession
for countries that are facing the problem of a liquidity trap, such as Japan and the UK.

o In such instances, interest rates are near the zero lower bound and cannot be
lowered further to stimulate consumption and investment, rendering expansionary
monetary policy ineffective.

Thesis 2: Explain how expansionary fiscal policy could be an appropriate policy during a
world-wide recession.
¢ Expansionary fiscal policy through an increase in government expenditure (G) or
decrease in direct taxes (T), could be another appropriate policy that a country
can adopt during a world-wide recession.

o An increase in G, in the form of spending on healthcare or education infrastructure, a
component of AD, would directly cause an increase in AD.

o With reference to Figure 3 above, the increase in G would lead to a larger increase in
AD, via multiple rounds of income-induced consumption.

o This would result in a multiplied increase in real GDP from Y2 to Y3, given that there
is spare capacity in an economy. Actual growth is hence achieved, addressing the
fall in real GDP as a resuit of a recession.

e When a government reduces personal income taxes, it raises consumers’ disposable

income, leading to an increase in purchasing power and consumption expenditure (C).
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Evaluative Conclusion

[Stand] Whether the cut in interest rates is the most appropriate policy depends on the
country in question due to the respective circumstances and constraints that they face.
[Situation] For a small and open country like Singapore whose trade is around 300% of
her GDP, the control over her exchange rate is an important tool to manage the impact of
the changes in external economy on her GDP. Moreover, Singapore is an interest rate
taker in the global interest rate market, and therefore a cut in interest rates would not be
an appropriate policy to address the effects of recession.

o [Time Period + Alternative] Instead, a combination of exchange rate and
supply-side policy in the form of cost-cutting measures would be more appropriate
for Singapore. This is because Singapore generally does not face budgetary
constraints and would have sufficient budget to spend to help companies tide
through the recession in the short run. For exchange rate monetary policy, the
Singapore govemment could utilise a zero appreciation exchange rate policy to help
exporters and supply-side measures to lower firms’ cost of production.

o [Time Period + Alternative] In the long run, Singapore could also focus her
expansionary fiscal policy on stimulating the productive capacity of the economy
through strategic spending on key infrastructural projects such as Jewel and 2nd
CBD at Jurong Lake District, allowing the economy to emerge stronger. Such
developmental expenditure may have limited impact on AD in the short run due to
the small multiplier size and hence limited actual growth is achieved, but it can lead
to improvements in productive capacity and potential growth in the long run, which is
key to sustained growth.

[Situation] However, in big countries like United States and China where there are large

domestic markets in which Consumption and Investment expenditure are key drivers of

growth, expansionary interest rate monetary policy in the form of a cut in interest rates
could be appropriate to address the effects of recession.

o [Situation] In contrast, other countries that are facing liquidity trap like Japan may
not find expansionary interest rate monetary policy as appropriate. They may have to
turn to cost-cutting measures in the short run, and also expansionary fiscal policy
with a focus on increasing the productive capacity in the long run.

o [Situation] For other countries that are facing high debt, they would have limited
capability of pursuing cost-cutting measures and expansionary fiscal policy. These
countries would have to turn to austerity measures instead even as they grapple with
the negative consequences of a recession. Painfu! austerity measures will enable the
country to tide through the worsening of recession at the initial stages with austerity
measures first, before adopting fiscal or supply-side polices to tackle recession.
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For a well-developed answer that has:

e Good scope— explains how three policies (including expansionary
interest rate monetary policy) could help to address the effects of
recession;

e Good balance - explains both the usefulness and limitations or
unintended consequences of all three policies

s Good rigour — utilises appropriate analysis, together with real-world
context in examples.

E3

L2 | For an underdeveloped or incomplete answer that: 5-7
e Lacks scope — only explains one or two policies (including
expansionary interest rate monetary policy)
o Lacks balance — only explains the usefulness OR limitations/
unintended consequences of the above policies;
¢ Lacks rigour — gives a descriptive explanation of the usefulness and
limitations of different policies.
11 For an answer that shows some knowledge of the policies to achieve | 1 -4

economic growth. Answer may contain multiple conceptual errors.

For a well substantiated evaluation on whether expansionary interest { 4 -5
rate monetary policy is the most appropriate for a country during
recession.

E2

For an answer that makes some attempt at an evaluation whether | 2-3
expansionary interest rate monetary policy is the most appropriate for a
country during recession.

E1

For an unexplained evaluative statement that addresses the question. 1
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Figure 2: Negative inflation caused by falling global oil prices

General Price Level
A

T
Py prrmrmmrmmmm e

-+ Real Output

Conclusion

¢ In summary, falling GPL in Singapore could be caused by a variety of internal and external
factors, such as weak labour market conditions or pessimistic economic outlock by
consumers and firms.

Mark scheme

pplication/Understanding and Analysis

L3 For a well-developed answer that has:

e good scope - explains one internal and one extemal factor of
negative inflation; and

e good rigour - thoroughly analyses the how each factor leads to
negative inflation using AD/AS analysis and diagrams; and

e good application to context - supports explanations with reference
to the context of Singapore.

L2 For an under-developed answer that: 5-7

o lacks scope — explains only one internal or one external factor of
negative inflation; and/or

o lacks rigour — descriptive explanation of how each factor leads to
negative inflation; and/or

s lacks application to context — analysis has little or no reference to
the context of Singapore.

L1 For an answer that shows some understanding of the causes of falling 1-4
general price level. Answer is descriptive and superficial, lacking in
development and/or there are major conceptual errors that affect the
accuracy of the essay.

35

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

(b) Discuss the view that governments should pursue price stability over the other
macroeconomic aims. [15]
Part (0)Q " )
Command | Discuss the view Provide a balanced analysis of the view presented
phrase before making a judgement on the validity of the
view with substantiation.
Content Governments  should | Benefits of low and stable inflation
pursue price stability Full employment, sustainable and inclusive growth,
Other macroeconomic | favourable balance of trade
aims
Context Not specified Analysis could be based on any context with
relevant examples brought in to support arguments
made.

A relevant response requires an explanation of the benefits of attaining low and stable inflation
as reasons why govemments should pursue price stability. For a balanced analysis, the answer
would need to explain why govemments may pursue at least two other macrosconomic goals
instead of price stability (i.e. positive consequences of the other macroeconomic goals). The
evaluation requires an overall judgment on whether governments should pursue price stability
instead of the other macroeconomic goals, and the reasons to substantiate why.

Introduction

e Every govemment has four macroeconomic objectives that it seeks to achieve, i.e.
sustainable and inclusive economic growth, full employment, price stability and a healthy
balance of trade.

o Price stability refers to a low and stable rate of inflation which ranges between 2% and 3%
for most countries.

e This essay aims to discuss whether governments should prioritise the pursuit of price
stability over the other macroeconomic objectives.

Thesis: Governments should pursue price stability over the other macroeconomic aims

¢ Low and stable inflation can lead to the achievement of the other macroeconomic
objectives.

¢ Low inflation encourages savings as consumers do not need to worry that the real value of
their savings would be eroded by high inflation rates. The increase in savings increases the
supply of loanable funds, thus lowering interest rates. This reduces the cost of borrowing,
which further incentivises consumption C and investment |, and hence AD. Due to the
multiplier effect where there are multiple rounds of increase in induced-consumption, real
GDP increases by a multiplied amount of the initial increase in C and |, thus achieving actual

growth.
¢ With actual growth, derived demand for labour increases as firms step up production to meet
increased demand for goods and services, thus i n ficient unemployme:

in the economy.

¢ In addition, higher investment increases capital stock accumulation, leading to an increase
in productive capacity and LRAS, hence contributing to potential growth of the economy.
The increase in AD and LRAS leads to both actual and potential growth, which facilitates the
achievement of sustained growth,
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living. As developed economies are likely to have attained high levels of real GDP per capita
and hence high material SOL, achieving economic growth may be less of a priority.

o

On the other hand, the government of a developing country may prefer to prioritise
economic growth and iow unemployment over inflation, since it requires the rapid
economic growth to improve the material standard of living of households, and to create
employment for its largely unutilized labour force. Although increase in prices may result
in fall in purchasing power, households in developing countries tend to have little savings
and assets; hence the impact of price increases is not as significant compared to
developed countries.

e [Time frame]: In the short run, a government may prefer economic growth and job creation
over price stability. A government may be willing to relinquish price stability in order to
achieve high economic growth to increase the standard of living of her people rapidly.

o For instance, it is not uncommon to observe near two-digit inflation rates in India in

recent years. However, the economic growth registered often surpasses that of her
inflation. The Indian government was g to tolerate inflation in return for rapid
increase in national output. This led to rapid improvement in the average material
welfare of the Indian citizens.

In the long run, when the economy may have achieved a high material standard of living,
the priority of the government may then switch to ensuring price stability to prevent

2022 TJC JC2 H2 Economics Preliminary Examination Suggested Answers

L3 For w,., ,;zm__.%é_ovma; answer that ha:
other macroeconomic goals; and

achieving price stabili

s good scope - exhibits clear analytic understanding of why
governments may aim to pursue price stability and at least two

e good rigour — utilises appropriate AD/AS analysis, together with
real-world examples to explain the positive consequences of
and the other macroeconomic goals.

L2 For an underdeveloped answer that:

price stability or other macroeconomic goals; and/or

macrgeconomic goals.

o lacks scope — only explains why governments may aim to pursue

o lacks rigour ~ gives a descriptive explanation of the positive
consequences of achieving price stability and the other

may contain muitiple conceptual errors.

L1 For an answer that shows some knowledge of the reasons for | 1-4
pursuing price stability and the other macroeconomic goals. Answer

people’s real incomes from being eroded and hence their material standard of
falling.

38

ing from

E3 For a well-substantiated evaluation of whether govemments should | 45
prioritise the pursuit of price stability over the other macroeconomic
goals, contextualised and well supported with economic analysis.

E2 For some attempt to provide synthesis/conclusion but lack clear | 2-3
substantiation/elaboration.

E1 For an unsubstantiated evaluative statement that addresses the | 1

question.
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AS2 to AS1 in Figure 1, and the country faces cost-push inflation as GPL increases from P2
to P1 and potentially lower economic growth from Y2 to Y1.

Mark Scheme

Knowledg) Application / Understanding an

L3 For m.im__.am<m_ouma answer that has: 8-10
« good scope — explains at least two different consequences of export
bans on both exporting and importing countries;

* good rigour - thoroughly analyses the consequences of export bans
using relevant tool of analysis, ie AD/AS; and

» good application to context - supports explanations with real-world
and relevant context.

L2 For an underdeveloped answer that: 5-7

o lacks scope — explains only one consequence of export bans on
exporting and importing countries; and/or explains two consequences
of export bans on either exporting or importing countries.

o lacks rigour — provides some degree of economic analysis of
consequences of export bans on exporting or importing countries;
and/or

« lacks application to context — limited or no reference to real-world

context.
L1 For an answer that shows some knowledge of export bans and its -
consequences but is largely irrelevant or contains conceptual errors. 4
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(b) Assess the extent to which the Singapore government can manage the hamms of

export bans by other countries on her economic performance. {15]
P Q . "
Command Assess the extent... To examine and present the different aspects
word/phrase of a problem or subject, usually in support of

a position or argument and give a judgement.
Present the arguments to support your
judgment of how far the Singapore
government is likely to be successful in
managing the harms of export bans.

Content Harms of export bans Follow through from part (a), cost-push
inflation and/or weaker economic growth.

Context Singapore government Bring in relevant examples applied to
different contexts of the export bans faced by
Singapore.

This response requires students to first explain the differsnt policies the Singapore government
could adopt to manage the harms of export bans. The answer should go on to explain the
limitations and/or negative unintended consequences of these policies. Finally, the evaluation
requires students to give a sound judgement on how likely the Singapore govemment is in
managing the harms of export bans.

Introduction

e As mentioned in the preamble, when countries ban exports, this can cause soaring prices,
presenting potential risks to Singapore's economy. Part (a) shows that importing countries
such as Singapore face higher cost-push inflation which could lead to lower economic
growth. This essay assesses the extent to which the Singapore government can manage the
harms of these export bans on her economic performance.

Policy 1: Encourage investments/promote R&D

Singapore can manage the harms of export bans by other countries through the use of
supply-side policies to increase domestic supply. For example, Singapore has its 30 by 30 pian
to meet 30% of Sigapore's nutritional needs by 2030. Such measures decrease Singapore’s
reliance on imports, making it more resilient to external shocks. This allows Singapore to
mitigate effects of shortages and ensure sufficient supply for the population.

After facing vaccine and mask shortage at the onset of Covid, Singapore has now attracted
German biotechnology company BioNTech, which developed the COVID-19 vaccine, to
establish its Asia-Pacific regional headquarters in Singapore, where it will also set up an mRNA
manufacturing facility which will produce several hundreds of millions of mRNA vaccine doses
per year starting from 2023. Other firms such as Thermo Fisher and Sanofi will also
manufacture a range of vaccines. Singapore has also been ramping up its masks production
capabilities, with government agency A*STAR working with local enterprises, including local
textile and apparel manufacturer Ramatex, to heip design effective masks for Singaporeans’
use.
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